Answer Key

Names Date:

Python Calculus Activity Handout

Step 1 Python code:

1 #This pr‘c;'gram will double all of the elements of a given
2 #1ist and then sum all the resulting values

3

simport math

s

¢listl = [23,1,5,9,2,4,5,6,2,18] #]istl: a given list of numbers

?

es = 0 #initialize the sum to zero

9 ——

10 length = #store the length of 1istl as a variable named 'length’
11

12 for i in range(0,length): #a for JToop will iterate though the elements of ]istl
13

18 [ #double each element of listl and overwrite the
18 #0ld values of Jistl

16

17

18 #print (output) each changed element of Jistl

19

20 -

2 #aa’d each elemet of ]istl to the sum

22

23

24

wsprint s #outside the for loop, print out the final sun

26

Step 1 Python code ANSWER (missing code is provided) W

1 #This prggr‘am will double all of the elements of a given
2 #]7st and then sum all the resulting values

3

simport math

5

«listl = [23,1,5,9,2,4,5,6,2,18] #7istl: a given list of numbers
=

ss = 0 #initialize the sum to zero

9

[1e1ength = Ten(1istl) #store the Tength of ]istl as a variable named 'length'

|12

{12for i in range(0,length): #a for Toop will iterate though the elements of listl

|14 Tistl[i] = 2*1istl[i] #double each element of listl and overwrite the
1s #old values of Tistl

16

17

18 print 1istl[i] #print (output) each changed element of listl

15

20

21 s += listl[i] #add each elemet of listl to the sum

22
23
24
wsprint s Foutside the for Joop, print out the final sun
26
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Step 2 Python code:

8 This program will spproximate the slope of & teangent line
& to & Ffunctich F(x) AT & walue of x, wherd X = T, using the satmdasd slope Formils
& [y - ¥1)F{uZ - w1} or (Fi{t = h) - FIEIDA(E + B - £)

ispost Bath

= def Fix):
rEkurn XYe 3

=

imputsl = [1,.1,.281,.8381,.08881, .S00088@1]

B e D G o O WA B G R e D D0 N B R e

= for b in irputsl:
primt L.B*(F{t +« A} « FLIW(E = h = T)

print “ErafREdrESERARESFEREREE"

= for b in inputsl:
primt 1.8 (F(t - n) - FEI}(E - K - 1)

Step 2 Python code ANSWER (missing comments are provided) v

1 2 This p gram will spproximate the slope of & tengent lirme

d ®rtoa f ticrn Flx) a% B walse , W @ £, ng the satnde coe formils
3 H ] 15 o EiF & B Fit oa &

4

g {mpast BNth Fisportd the BAath Soduls

&

7 def #{x): & define the Function

a rebiprn X**] 0 enter the aguation of the functioe

g

L

1l irgutsl = [1,.1,.001,.0001, 00001, .00000081] # these are values of |

12

iy B B this is the Lnput of the podnk of tangenty

14

15 for h in inputsl:

14 print 1.0°(#ft + A} - FEI}/(E = h - £) Ecompute slopes from the right side
18 pgrint "IEESTSSSESSESSESTESIEEST IOrinb & SEDATATON

L4

for b oin inputsl:
print 1.8*(f(t - h) - FEI}/{t - h - t) Scompute slopes from the Lleft side

FEF T
(o=

Analysis of Python Script Activity—Python Calculus Activity Handout Answer Key



